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Cuadro 10 (continuación 4)/Table 10 (continued 4)
El Salvador: tablas abreviadas de mortalidada

 El Salvador: abridged life tables a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.058 0.055  100 000  5 528  95 948 0.936 b 5 930 286 59.3
1 4 0.005 0.021  94 472  2 025  372 207 0.985 c 5 834 338 61.8
5 5 0.001 0.005  92 446   431  461 156 0.995 5 462 131 59.1

10 5 0.001 0.005  92 016   495  458 840 0.990 5 000 975 54.3
15 5 0.003 0.015  91 520  1 375  454 164 0.978 4 542 135 49.6
20 5 0.006 0.029  90 145  2 655  444 089 0.966 4 087 971 45.3
25 5 0.008 0.039  87 491  3 456  428 814 0.959 3 643 882 41.6
30 5 0.009 0.043  84 035  3 616  411 134 0.957 3 215 068 38.3
35 5 0.009 0.044  80 419  3 501  393 342 0.956 2 803 933 34.9
40 5 0.009 0.045  76 918  3 467  375 921 0.952 2 410 591 31.3
45 5 0.010 0.050  73 451  3 707  357 986 0.944 2 034 670 27.7
50 5 0.013 0.062  69 744  4 304  337 959 0.929 1 676 684 24.0
55 5 0.017 0.081  65 440  5 274  314 013 0.906 1 338 725 20.5
60 5 0.023 0.109  60 166  6 571  284 401 0.872 1 024 712 17.0
65 5 0.032 0.150  53 595  8 047  247 858 0.817  740 310 13.8
70 5 0.050 0.222  45 548  10 100  202 492 0.728  492 452 10.8
75 5 0.081 0.336  35 448  11 899  147 494 0.602  289 960 8.2
80 5 0.132 0.492  23 549  11 585  88 784 0.449  142 466 6.0
85 5 0.212 0.668  11 964  7 991  39 844 0.295  53 682 4.5
90 5 0.319 0.817  3 974  3 246  11 752 0.168  13 838 3.5
95 5 0.448 0.913   727   664  1 977 0.052 d  2 085 2.9

100 ω 0.586 1.000   63   63   108   108 1.7
Mujeres/Females

0 1 0.046 0.045  100 000  4 491  96 712 0.947 b 6 895 109 69.0
1 4 0.005 0.019  95 509  1 808  376 999 0.987 c 6 798 397 71.2
5 5 0.001 0.004  93 701   381  467 550 0.996 6 421 398 68.5

10 5 0.001 0.004  93 320   327  465 781 0.995 5 953 848 63.8
15 5 0.001 0.006  92 993   539  463 617 0.994 5 488 067 59.0
20 5 0.001 0.007  92 454   661  460 616 0.992 5 024 450 54.3
25 5 0.002 0.008  91 792   725  457 150 0.991 4 563 834 49.7
30 5 0.002 0.010  91 068   879  453 140 0.989 4 106 684 45.1
35 5 0.003 0.013  90 188  1 147  448 076 0.985 3 653 543 40.5
40 5 0.004 0.017  89 042  1 557  441 318 0.979 3 205 468 36.0
45 5 0.005 0.025  87 485  2 161  432 023 0.970 2 764 150 31.6
50 5 0.007 0.035  85 324  3 018  419 074 0.957 2 332 127 27.3
55 5 0.010 0.051  82 306  4 196  401 039 0.938 1 913 053 23.2
60 5 0.015 0.073  78 110  5 708  376 280 0.911 1 512 014 19.4
65 5 0.022 0.105  72 402  7 634  342 924 0.865 1 135 734 15.7
70 5 0.037 0.168  64 768  10 894  296 604 0.783  792 810 12.2
75 5 0.063 0.275  53 874  14 804  232 360 0.659  496 205 9.2
80 5 0.111 0.432  39 070  16 869  153 178 0.505  263 845 6.8
85 5 0.179 0.605  22 201  13 436  77 417 0.349  110 667 5.0
90 5 0.276 0.767  8 766  6 721  27 026 0.212  33 250 3.8
95 5 0.390 0.878  2 045  1 795  5 737 0.078 d  6 223 3.0

100 ω 0.514 1.000   250   250   486   486 1.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


